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@) Stwple encloswre method

@) Fixed poinl method
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$) = ~L = -1
(1) ?—) = j('q)) = At+2-3-1 = -1 Zavo evossing
(2) = g+g-6-1 ~ g

@ Injr@(‘m@_cb:?\ﬁg Ualue TWYQJ/M %Q’VQS Us on i’mtmucd
Hhod condaing o xeno. |

¢o, Whot Ao we do rw_xf?
Ouy 800\1) s o ShrinK  Hhe  Siae of the inforval

8MA&MLL71, | 'waseh/[ M voof enoﬂosfnj
fnfmvaﬂ s svsw‘w\ﬁ{uux/ shrinked.



{HT Whod would be  the  simplest weuy to vedvee Hae

ntocval  Size !
—7 ° Redueed b\/ half * <Bf56d“l‘m3)
ldd@im:w whid hodd contoiing

o yool

VUse Intormediole Valve Theovem

- New Inlowed Foond
‘L i stopping evibun s safisfied
STOP

This is bisectHon method.

@y Bisection methoct: As  saen above, we will have
sovies of  Intotuals colevlated in Hus process.

W So, Wt amsume Cam by ‘0 b dntowed
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Fourth  Appvoxfwation ¢
o= %%bi = 1185
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(7 Folse Posibon Vs, Biseekion

Thaug g hiﬂhl«/ problawm  orienfed. Hud s tombex JqDMM..

Foy  some pyoblems "
prob ’ Orsection  mekhod vequives ik nymber

S(0= Hanfrol)~x-¢ | of ot evalvalion " ensuve Hu
(04, 0-y3) lvel  of aewnary sought
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[ Fodse  Position Vs, Biseefiorn Method €D

W Folse position method  uses  move in formation

about the £

Bud i} does not afways crwquﬂfovm
Biceckion method. |

W Peorfovrmonee 1s  confext dependent.
for sme pwﬂoblw,. Bisecton 1s beHun

Jor some problew  False PsiHom -

* o However g0 fole position  method  provides a
CUMPL‘M'Q Uk Q\SHWIG"&'
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2| rtms
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&)

L Stopping  cviloua

We  would like b fowninafe  false position method
when le,| falls bedow o Sp@.tifl'eap it . Jpefs sy,
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en /r\,\’ )\en-l
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Fhally, yrc fod oftor forbhoc sfwdlification

o B— ooy ~ A bos  oex @

Fe1 — Foz




5 @
U\sfnﬂ Fge 3 ond Eq.4

We, ean constitute a computeble estimedo
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B Method of False Posibon Confinves

infocwed  [1,2]
Y N N
Py o " )= x°+ 2% —3%1 S0, Sy = -

3o, Ersjc approx?m&ﬁ% aivgs ’.f"(bq> = 9
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by - oy
£(by) - £ (a4)

= P = 2-09 %1 - 4.
7 h 9 o 1)

To dedorrune whehther  zevp is contatned

<o, @Z,bz) CPsby) = (11, 2)

SENSA I 21
feation F = 2-9 q_c_jo-{;qo)) = 11517Y4
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S 4 @3) b > becomes <P2_ , 2.>
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fl
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